DELHI URBAN SHELTER IMPROVEMENT BOARD GOVERNMENT OF N.C.T. OF DELHI OFFICE OF THE EXECUTIVE ENGINEEER, C-9 1, KILOKARI OPP. MAHARANI BAGH, NEW DELHI 110014.

NIQ No.05 /EE/C-9/DUSIB/2021-22/D-82

Dated: 09.03.2022

NOTICE NIQ

Executive Engineer, C-9, DUSIB on behalf of Delhi Urban Shelter Improvement Board invites NIQ from intending agencies who are registered with DDA, MCD CPWD, BSNL (Civil Wing), I&F, MES, Railways, etc. in appropriate class and NGO registered under registration Act on item basis rate in sealed cover for the following works:-

S.N	Name of work	Estimated Cost	Time of Completion		
1.	NOW: C/o BVK (Revenue). SH: Painting and financing works on urgent basis for EDMC Election in community Hall at Block, 13-14. Kalyan puri and Block, 11-12, Kalyan Puri.	Rs 94,543.00	15 days after the date of issue of work order.		

The quotations along with copy of **valid Registration**, **PAN Card & GSTN** should reach to the office of the Executive Engineer, C-9, DUSIB, 1, Kilokari opposite Maharani Bagh, New Delhi-110014 latest by **12.00 PM on 11.03.2022 which shall be opened on 11.03.2022 at 12.30 PM** in the presence of intending quotationers or their representatives. The intending quotationer may collect the schedule of quantities, terms and conditions and other information from the office of the Executive Engineer, C-9, / DUSIB. Demand Draft amounting to Rs. 5000/- drawn in favour of Executive Engineer, C-9 DUSIB must be attached along with quotation documents.

The quotations submitted without requisite document shall be rejected.

- The work shall be carried out as per CPWD specifications 2016 Vol. 1 & II /latest editions of the specifications, with up to date (the date of receipt of quotation) correction slips, for works at Delhi.
- Cement/steel required shall be arranged by the Agency and same shall conform to relevant specification /I.S. Code.
- 3. Payment shall be made as per actual measurement at site of work.
- 4. No T& P shall be issued.
- 5. No extra charges shall be paid except for the rates quoted.
- 6. Conditional quotations shall be liable to rejection.
- 7. For any disputes the matter shall be referred to SE-III DUSIB for final decision and the same shall be binding upon both the parties.
- 8. Necessary statutory deductions will be made as per prevailing Law.
- 9. Work shall be completed to the satisfaction of Engineer-in-charge.
- 10. Debarred/blacklisted agencies shall not be permitted to participate in the NIQ process.

EXECUTIVE ENGINEER C-9 D.U.S.I.B.

NOTICE BOARD

Copy to:

- 1. S.E-3/DUSIB for kind information please.
- 2. Concerned AE/C-9, DUSIB
- 3. AAO/C-9
- 4. HC/C-9
- 5. Office copy.

EXECUTIVE ENGINEER C-9 D.U.S.I.B.

Page 1 of 4

DELHI URBAN SHELTER IMPROVEMENT BOARD GOVT. OF NCT OF DELHI OFFICE OF THE EXECUTIVE ENGINEER C-9

Sub Head :		Painting & finishing works on urgent basis for MCD Election in Community Hall at Block-13-14 Khichripur and Block 11-12, Kalyanpuri, Kondli (AC-56)							
· · ·			No. or			AMOUNT			
SI. No.	Ref. Code	Description of work	Qty.	Unit	Figure	imated Rate Words	Rs. P		
		Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level :			- 3		20		
1 •'	4.1.3	1:2:4 (1 cement : 2 coarse sand(zone-III) : 4 graded stone aggregate 20 mm nominal size)				Rupees Five Thousand Four Hundred & Eighty One - Paise Ninety			
	· · · · · · · · · · · · · · · · · · ·		1.00	Cum	5481.95	Five Only	5481.95		
		Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in:							
2	6.1.2	Cement mortar 1:6 (1 cement : 6 coarse sand)	1920			Rupees Four Thousand Seven			
		62 1	0.000			Hundred & Fifty One			
		·	2.50	Cum	4751.65	Paise Sixty Five Only	11879.13		
3	14.43	Removing white or colour wash by scrapping and sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete			0.05	Rupees Eight - Paise	·~ 4400.00		
	2 11 p	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade :	140.00	Sqm	8.35	Thirty Five Only	1169.00		
4	13.61.1	Two or more coats on new work.			70.40	Rupees Seventy Eight - Paise Fourty	10976.00		
5	13.80	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	140.00		78.40	Rupees Eighty Seven - Paise Thirty Five Only	12229.00		
۰,		Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade :		255 ⁵⁰ 11 2944 11					
6	14.45.1	Old work (one or more coats) .	350.00	Sqm	33.35	Rupees Thirty Three - Paise Thirty Five Only	11672.50		
		Finishing walls with Acrylic Smooth exterior paint of required shade :							
7	14.66.1	Old work (Two or more coat applied @ 1.67 ltr/ 10 sqm) on existing cement paint surface).	130.00	Sqm	68.95	Rupees Sixty Eight - Paise Ninety Five Only	8963.50		
2		Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100 mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever) conforming to IS : 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required							

÷

Page 2 of 4

₿s	1	White Vitreous china Orissa pattern W.C. pan of size 580x440 mm with integral type foot rests	anî. L		T H F	tupees Three Thousand Four Hundred & Ninety Four - Paise Twenty	6988.40
			2.00	No.	3494.20	Only	0900.40
		Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS : 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required :					
9	17.2.1	W.C. pan with ISI marked white solid plastic seat and lid	2.00	No.		Rupees Three Thousand Four Hundred & Eighteen - Paise Seventy Only	6837.40
		Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require:					
10 • ·	17.7.2	White Vitreous China Wash basin size 630x450 mm with a single 15 mm C.P. brass pillar tap.	2.00	No.	2020.60	Rupees Two Thousand & Twenty - Paise Sixty Only	4041.20
		Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings complete.	April April				×
		Flexible pipe		-		Sec. 1	e
11	17.28.2.2	2 40 mm dia	2.00	No.	75.60	Rupees Seventy Five - Paise Sixty Only	151.20
12 , '	17.31	Providing and fixing 600x450 mm beveled edge mirror of superior glass (of approved quality) complete with 6 mm thick hard board ground fixed to wooden cleats with C.P. brass screws and washers complete.	2.00) No.	817.9	Rupees Eight Hundred & Seventeen - Paise 5 Ninety Five Only	1635.9
5		Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings. This includes jointing of pipes & fittings with one step CPVC solvent cement, trenching, refilling & testing of joints complete as per direction of Engineer in Charge : External work			,		
13	18.9.1	15 mm nominal outer dia. Pipes.	2.0	0 metro	e 120.6	Rupees One Hundred & Twenty - 5 Paise Sixty Five Only	241.3
		Providing and fixing uplasticised PVC connection pipe with brass unions :					
		30 cm length					
14	18.21.1.	1 15 mm nominal bore	1			Rupees Fifty Nine -	118.8
				00 No.	59.4	O Paise Fourty Only	110.0
-		Providing and fixing PTMT bib cock or approved quality and colour.	1.170	6		10 M 10 M	

۰'

Page 3 of 4

<u>,</u> ' 15	18.54.2	15 mm nominal bore, 122 mm long. Weighing				Rupees One	5
5	10.04.2	not less than 99 gms.			1	Hundred & Fourty	e 3
						Three - Paise Ninety	4454 00
		Vapit in the S	8.00	No.	143.95	Five Only	1151.60
		Providing and fixing PTMT stop cock of approved quality and colour.	- AV			D	
16	18.55.1	15 mm nominal bore, 86 mm long. Weighing not less than 88 gms.				Rupees One Hundred & Three -	413.20
			4.00	No.		Paise Thirty Only Rupees One	415.20
17	18.55.2	20mm nominal bore, 89 mm long. Weighing not less than 88 gms.				Hundred & Thirty Four - Paise Sixty Five	
			4.00	No.	134.65	a standar i na standar standar se se i la	538,60
18	14.60	Re-lettering with black Japan paint of approved brand and manufacture.				Rupees One - Paise	
	100	approved brand and manadederer	100.00	units	1.70	Seventy Only	170.00
19	14.77	Cleaning of chocked sewer line by diesel					
		running vehicle mounting hydraulic operated high pressure suction cum jetting sewer	2.5				
•		cleaning machine fitted with pump having	18.4	1			
		4000 litres suction capacity and 6000 litres	the second second				
		water jetting tank capacity including skilled		1. 1			
		operator, supervising engineer etc. for	1000	Sec. 10.			
		cleaning and partial de-silting of manholes and		30			
		de-chocking of sewer lines. De-chocking and					
		flushing of sewer line from one manhole to					
		another by high pressure jetting system of 2200 PSI for sewer line from 150mm dia upto				Rupees Two	
•		300mm dia for all depth.				Hundred &	
			40.00		047.90	Seventeen - Paise Eighty Only	2178.0
	10.00	the state of all sizes including	10.00	Metre	217.00		2110.0
20	14.82	Dismantling W.C. Pan of all sizes including disposal of dismantled materials i/c malba all		1.4 1			
		complete as per directions of Engineer-in-		de ser -		Rupees Fifty Five -	
		Charge.	2.00	No.	55.45	Paise Fourty Five Only	110.9
21	0114	providing un-skilled labour for cleaning work		11 2 12		Rupees Three	1944 -
0.000	5,,,,					Hundred & Sixty	2044.0
			8.00	each	368.00) Eight Only Rupees Eight	2944.0
22	mkt	Cleaning materials such as (2-harpic, 2-	2.00	each	800.00	Hundred Only	1600.0
_		phenyl, 2- jhadu, 2-viper) Total	2.00	each	000.00		86009.6
1		Add 21.46% on cost index(A) Rs.	1				18457.6
-		Aug 2 1140 / Oll GOOD Intended of the	1.				104467.3
		Less 09.50% on Total B		1.00			-9924.3
				and the second			94542.9
				1		0 Pa	94543.00

EE/C09

• '

AE-II/C-9